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QUESTION 1

Which three options are allowed when using Classic policies? (Choose three.)
A. CLIENT

B. SERVER

C.IP

D. HTTP

E. DNS

F. TCP

Correct Answer: CDE

QUESTION 2

Scenario: A Citrix Administrator has configured an HTTP load-balancing virtual server with Least Response Time as the
load-balancing algorithm.

The administrator notices that requests to the virtual server appear to be using the Round Robin load-balancing
algorithm.

What could be causing the virtual server to use Round Robin load-balancing algorithm?

A. The services that are bound to the HTTP virtual server are using the PING monitor.

B. The virtual server is in startup round robin mode.

C. Least Response Time CANNOT be used as a load-balancing algorithm on an HTTP virtual server.
D. The NetScaler configuration has NOT been saved yet.

Correct Answer: B

QUESTION 3

A Citrix Administrator would like to configure the network in a way that will allow the traffic requests coming from the
client to pass through the NetScaler, but the responses from the back-end resources will be sent directly to the client
bypassing the NetScaler.

Which feature can the administrator use for this configuration?

A. Policy-based Routing

B. Use Source IP (USIP) address

C. Direct Server Return (DSR)
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D. SmartAccess

Correct Answer: D

QUESTION 4

A Citrix Administrator notices that the NetScaler is sending the IP addresses of all the active services in the DNS
response.

The administrator can use the set gslb vserver parameter to avoid this

behavior.

(Choose the correct option to complete the sentence.)
A. EDR DISABLED

B. EDR ENABLED

C. MIR ENABLED

D. MIR DISABLED

Correct Answer: D

QUESTION 5

Scenario: A NetScaler MPX is using one of four 10G ports available in an environment. A Citrix Administrator found a
traffic bottleneck at the NetScaler.

What can the administrator do to increase bandwidth on the NetScaler?

A. Plug another 10G NetScaler port into the router.

B. Add two more 10 NetScaler ports to the network and configure VLAN.

C. Add another 10G NetScaler port to the switch and configure Link Aggregation Control Protocol (LACP).
D. Purchase another NetScaler MPX appliance.

Correct Answer: C
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